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Quiz 11 – Section 3.2

1.  State why the Rolle’s Theorem does not apply to the function  on the interval 
     [-2, 0].  Be sure to choose all that apply.



a.  	       b.  f  is not differentiable at x = -1         c.  f  is not continuous on		d.  Both a and c.	       e.  Both b and c.			          f.  a, b, and c.






2. Decide whether Rolle’s Theorem can be applied to on the interval [0, 2].  If Rolle’s Theorem can be applied, find all value(s) of c in the interval such that [image: ]  If Rolle’s Theorem cannot be applied, state why.


	a.  Rolle’s Theorem can be applied; [image: ]    b.  Rolle’s Theorem can be applied; c = 0, .

	c.  Does not apply because          d. Does not apply because f(x) is not continuous on [0, 2].

	e.  None of these









3.  State why the Mean Value Theorem does not apply to the function  on the interval [-3, 0].


a.  				b.  f  is not defined at x =  and x = 0

c.  f  is not continuous at x = 		d.  Both a and c.		e.  None of these.











4.  Does the Mean Value Theorem apply to [image: ] on the interval .  If so,  find all value(s) of c in 

     the interval such that.     If the Mean Value  Theorem does not apply, state why.

	a.  Mean Value Theorem does not apply because  
	b.  The Mean Value Theorem does not apply because f is not continuous at x = 0.

	c.  Mean Value Theorem applies;  

	d.  Mean Value Theorem applies;  
	e.  None of these












5. Given [image: ] find all c in the interval (2, 7) such that [image: ]
	a.  [image: ]			b.  [image: ]		c.  [image: ]		d.  [image: ]		e.   None of these












Quiz 11 – Section 3.2

1.  State why the Rolle’s Theorem does not apply to the function  on the interval 

     [0, 2].  Be sure to choose all that apply.



a.  	       b.  f  is not differentiable at x = 1         c.  f  is not continuous on		d.  Both a and c.	       e.  Both b and c.			          f.  a, b, and c.








2. Decide whether Rolle’s Theorem can be applied to on the interval [0, 3].  If Rolle’s Theorem can be applied, find all value(s) of c in the interval such that [image: ]  If Rolle’s Theorem cannot be applied, state why.



	a.  Rolle’s Theorem can be applied;      b.  Rolle’s Theorem can be applied; c = 0, .

	c.  Does not apply because          d. Does not apply because f(x) is not continuous on [0, 2].

	e.  None of these









3.  State why the Mean Value Theorem does not apply to the function  on the interval [-3, 0].


a.  				b.  f  is not defined at x =  and x = 0
c.  f  is not continuous at x = -1		d.  Both a and c.		e.  None of these.










4.  Does the Mean Value Theorem apply to [image: ] on the interval .  If so,  find all value(s) of c in 

     the interval such that.     If the Mean Value  Theorem does not apply, state why.

	a.  Mean Value Theorem does not apply because  
	b.  The Mean Value Theorem does not apply because f is not continuous at x = 0.

	c.  Mean Value Theorem applies;  

	d.  Mean Value Theorem applies;  
	e.  None of these














5. Given   find all c in the interval (4, 9) such that  




	a.  			b.   		c.   		d.   		e.   None of these
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